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	1) Fill in the missing numbers.

      [image: http://www.mathster.com/course/simgs/132102929610_1.png]

......... rows of .........  .........
	[1]  

	2) Complete the multiplication table:

      
	 
	6
	2
	10

	9
	
	
	

	6
	
	
	

	8
	
	
	




	[1]  

	3) Write the missing numbers in the sequence
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	[1]  

	4) Work out 
     a) 
	 
	 
	94

	 
	 
	11

	 
	 
	____

	 
	 
	





     b)      8   4   10     .........
     c)      2.76   10     .........
	[3]  

	5) Use the grid method to work out 942   16
	 
	900
	40
	2

	10
	
	
	

	6
	
	
	



	Answer =
		







     
	[1]  

	6) Multiply 431 by 5     .........


     
	[1]  

	7) Complete the number sentence.

           900 = 9   ......... = .........  10
	[1]  

	8) Read the number shown on the scale     .........
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	[1]  

	9) A school hall has 71 rows of 48 people.
How many people are there?     .........

     
	[1]  

	10) Using the number line, start at 2 and make three jumps of 3.
Which number do you finish on? .........
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	[1]  



Solutions for the assessment Mixed multiplication
	1) 5 rows of 8 = 40

	2) 
54,18,90
36,12,60
48,16,80


	3) 16 and 32

	

	4)  a) 1034
	     b) 320

	     c) 27.6
	5) 9420   5652   15072


	6) 2155

	7) 100, 90


	8) 260

	9) 71   48 = 3408


	10) 11
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